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NEW QUESTION 1 Which three address family types does EIGRP support? (Choose three)) A.&#160;& #160;&#160; |Pv4
unicast B.&#160;&#160;&#160; IPv4 multicast C.&#160;&#160;& #160; IPv6 unicast D.&#160;&#160;& #160; | Pv6 multicast
E.&#160;& #160;&#160; IPv4 anycast F.&#160;&#160;&#160; IPv6 anycast Answer: ABC NEW QUESTION 2 Which two
values must beidentical to allow 1S-1S devices to become neighbors? (Choose two.) A.&#160;& #160;&#160; interface MTU
B.&#160;& #160;& #160; authentication key C.&#160;&#160;&#160; IPMTU D.&#160;&#160;&#160; CLNS address
E.&#160;&#160;&#160; NSEL  F.&#160;&#160;&#160; arealD Answer: AB NEW QUESTION 3 Which Layer 2 tunneling
technique eliminates the need for pseudowires? A.&#160;&#160;&#160; OTV B.&#160;&#160;&#160; L2TPv3
C.&#160;& #160;&#160; ATOM D.&#160;&#160;&#160; VPLS Answer: A NEW QUESTION 4 Which two application
protocols require application layer gateway support when using NAT on a Cisco router? (Choose two.) A.&#160;& #160;& #160;
SIP B.&#160;&#160;&#160; HTTP C.&#160;&#160;&#160; FTP D.&#160;&#160;&#160; SMTP E.&#160;&#160;& #160;
POP3 Answer: AC NEW QUESTION 5 Which three options must be configured when deploying OSPFv3 for authentication?
(Choose three.) A.&#160;&#160;& #160; security parameter index B.&#160;&#160;& #160; crypto map
C.&#160;& #160;& #160; authentication method D.&#160;& #160;&#160; |Psec peer E.&#160;& #160;&#160; encryption
algorithm F.&#160;&#160;&#160; encryption key G.&#160;&#160;&#160; |Psec transform-set  H.&#160;& #160;& #160;
authentication key Answer: ACH NEW QUESTION 6 Which two statements about 10S and |OS XE are true? (Choose two.)
A.&#160;&#160;&#160; 10S XE can upgrade and restart applications independently of 10S. B.&#160;&#160;&#160; Only 10S
uses the FFM to provide separation between the control plane and the dataplane. C.&#160;&#160;&#160; |OS XE provides
improved functionality and an enhanced Ul.  D.&#160;&#160;&#160; Only 10S runs as a single daemon within the Linux OS.
E.&#160;&#160;&#160; 10S XE provides additional system functions that run as multiple separate processes in the OS. Answer:
AE NEW QUESTION 7 An NSSA area hastwo ABRs connected to Area 0. Which statement istrue? A.&#160;& #160;&#160;
Both ABRstranslate Type-7 LSAsto Type-5 LSAs. B.&#160;&#160;&#160; The ABR with the highest router ID trandates
Type-7 LSAsto Type-5 LSAs. C.&#160;&#160;&#160; Both ABRs forward Type-5 L SAs from the NSSA area to backbone area.
D.&#160;&#160;&#160; No L SA translation isneeded. Answer: B NEW QUESTION 8 Which two options are requirements to
implement 6VPE? (Choose two.) A.&#160;&#160;&#160; MPLS between PEs B.&#160;& #160;&#160; 6-in-4 tunnels between
PEs C.&#160;&#160;&#160; MP-BGP VPNv6 exchange D.&#160;&#160;&#160; MP-BGP |Pv6+label exchange
E.&#160;&#160;&#160; Any Transport over MPLS F.&#160;&#160;& #160; 1Pv4/IPv6 dual-stack in core Answer: AC NEW
QUESTION 9 Refer to the exhibit. All routers are running EIGRP and the network has converged. R3 and R4 are configured as

EIGRP Stub. if the link between R1 and R3 goes down, which statement is true?

SO A A A A NS ASTTOV A AR

(Stub) (Stub)

192.168.0.0/24

A.&#160;&#160;& #160; R1 sends traffic destined to 192.168.0.100 viaR2. B.&#160;& #160;& #160; R2 does not have a route to
192.168.0.0/24 in the routing table.  C.&#160;&#160;& #160; The prefix 192.168.0.0/24 becomes stuck-in-active on R4.
D.&#160;&#160;&#160; R3 does not advertise 192.168.0.0/24 to R4 anymore. Answer: B NEW QUESTION 10 Which three
options are characteristics of a Type 10 LSA? (Choosethree)) A.&#160;&#160;&#160; It isan area-local, opagque LSA.

B.&#160;& #160;&#160; Datais flooded to al routersin the LSA scope. C.&#160;& #160;&#160; It is used for traffic-engineering
extensionsto OSPF.  D.&#160;&#160;&#160; It isalink-local, opaque LSA. E.&#160;&#160;&#160; Datais flooded only to

Output as PDF file has been powered by [ ] plugin from www.ProfProjects.com | Pagel/2 |


http://www.ciscobibles.com/?p=4925
http://www.profprojects.com/?page=upm

This page was exported from - Free Cisco Training & Resources - Certification Exam Preparation
Export date: Fri May 9 20:41:39 2025/ +0000 GMT

the routersin the LSA scope that understand the data.  F.&#160;& #160;&#160; It is used for traffic-engineering extensions to
LDP. Answer: ABC NEW QUESTION 11 Refer to the exhibit. Which three statements about the device with this configuration
are true’? (ChOO% thr%) §TCP-6-BADAUTH: Invalid MDS digest from 172.16.1298.4(179) to 172.16.129.7(43766) cableid - 0

BGP: tbl IPv4 Unicast:base Service resst ragquasts
BEP: thl IFvdi MDI:base Service ressc requeaacs

BGF: thl VFlv4 Unicest:base Service reset requests
BGP: thl IPv4 Multicast:base Service reset requeats

A.&#160;&#160;&#160; Multiple AFIs are configured on the device. B.&#160;& #160;&#160; The authentication on
172.16.129.7 is configured incorrectly. C.&#160;& #160;&#160; The deviceis configured to support MPLS VPNSs.
D.&#160;&#160;&#160; This deviceis configured with asingle AFI.  E.&#160;&#160;&#160; The authentication on
172.16.129.4 is configured incorrectly. F.&#160;&#160;&#160; The device is configured to support L2VPNs. Answer: ABC
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